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1. (a) Define multiplexing. Explain with a block diagram the process of FDM.

(b) A modulating signal is given by m(t) = 2 sin 2]] 10%t is used to amplitude modulate a carrier
given by c(t) = 10 sin 2 ] 10%.

i. Write the expression for the modulated wave.
ii. Draw the two sided spectrum of the modulated wave.

i. ¢ =0and
ii. p# 0and |X ()] << Ac/2.
(b) Explain the DSB-SC generation by balanced modulator usin

8+8]

3. (a) Describe the frequency response of VSB filter use

(b) An audio signal 10 sin 1000 7 t is used to m a carrier of 50 sin 27 10°t. Calculate the
bandwidth and power delivered to a load

i. AM
ii. DSB-SC and
iii. SSB. [4-+12]

4. (a) Explain the operatlon of n ed slope detector using a circuit diagram and draw its response
characteristics. s in artlcular the method of combining the outputs of the individual
tifts circuit an improvement on the slope detector and in turn what are

the advant
(b) Compu dwidth requirement for the transmission of FM signal having a frequency devi-
atio and an audio bandwidth of 10KHz. [12+4]

5. (a) Exp the equivalent model of a generalized communication system for noise calculation.

(b) Explain the noise performance of DSB SC scheme with the help of block diagram. [16]
6. (a) Classify radio transmitters in detail.

(b) Compare low level modulation and high level modulation of radio transmitters.

[16]

7. (a) Explain the purpose of Mixer / Local oscillator circuits.
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A receiver has a sensitivity of 1 u v and a blocking dynamic range of 100 dB. What is the strongest
signal that can be present along with the 1 y v signal without blocking taking place 7 [16]

8. (a) How is PDM wave converted into PPM system.

(b) Explain why a single channel PPM of system requires the transmission of synchronization signal,
where as a single channel PAM or PDM system does not it. [16]
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